# STEINER SYMMETRIZATION FOR CONCAVE SEMILINEAR ELLIPTIC AND PARABOLIC EQUATIONS AND THE OBSTACLE PROBLEM 

J.I. Díaz and D. Gómez-Castro<br>Instituto de Matemática Interdisciplinar and Dpto. de Matemática Aplicada Facultad de Ciencias Matemáticas<br>Universidad Complutense de Madrid<br>Plaza de las Ciencias, 3, 28040 Madrid, Spain


#### Abstract

We extend some previous results in the literature on the Steiner rearrangement of linear second order elliptic equations to the semilinear concave parabolic problems and the obstacle problem.


1. Introduction. In this paper we extend some previous results in the literature on the Steiner rearrangement of second order semilinear parabolic problems of the type

$$
\begin{cases}\frac{\partial u}{\partial t}-\Delta u+h(t) g(u)=f, & \text { in }(0, T) \times \Omega \\ u=0, & \text { on }(0, T) \times \partial \Omega \\ u(0)=u_{0}, & \text { on } \Omega,\end{cases}
$$

where $\Omega$ is a bounded open subset of $\mathbb{R}^{N}, h \in W^{1, \infty}(0, T)$ is such that $h(t) \geq 0$ for all $t \in(0, T)$ and $g$ is a concave continuous nondecreasing function such that $g(0)=0$ satisfying that

$$
\begin{equation*}
\int_{0}^{\tau} \frac{d \sigma}{g(\sigma)}<\infty, \quad \forall \tau>0 \tag{H}
\end{equation*}
$$

We recall that the existence and uniqueness of a weak solution $u \in C\left([0, T]: L^{2}(\Omega)\right) \cap$ $L^{2}\left(\delta, T: H_{0}^{1}(\Omega)\right)$ for any $\delta \in(0, T)$ can be obtained, for instance, by the application of the theory of maximal monotone operators in $L^{2}(\Omega)$ (see [6], [2] and [4]).

Let us start by recalling that given a general measurable function $v: \mathbb{R}^{n} \times \mathbb{R}^{m} \rightarrow \mathbb{R}$, with $n, m \geq 1$ and $n+m=N$, for a fixed $y \in \mathbb{R}^{m}$ we can define the function $\mu_{v}: \mathbb{R} \times \mathbb{R}^{n} \rightarrow \mathbb{R}$ by means of

$$
\mu_{v}(t, y)=\left|\left\{x \in \mathbb{R}^{n}:|v(x, y)|>t\right\}\right| .
$$

The Hardy-Littlewood-Polya decreasing rearrangement $v^{*}:[0,+\infty) \times \mathbb{R}^{m} \rightarrow \mathbb{R}$ is given as

$$
v^{*}(s, y)=\sup \left\{t>0: \mu_{v}(t, y)>s\right\}=\inf \left\{t>0: \mu_{v}(t, y) \leq s\right\}
$$

It can be shown that, if $\omega$ represents a generic measurable subset of $\mathbb{R}^{n} \times \mathbb{R}^{m}$

$$
\begin{equation*}
\int_{0}^{s} v^{*}(\sigma, y) \mathrm{d} \sigma=\sup _{|\omega|=s} \int_{\omega} v(x, y) \mathrm{d} x, \quad \text { a.e. } y \in \mathbb{R}^{m} . \tag{1}
\end{equation*}
$$

Finally we define the Steiner symmetrization of $v$ with respect to $x$ as

$$
v^{\#}(x, y)=v^{*}\left(\omega_{n}|x|^{n}, y\right), \quad \text { a.e. } y \in \mathbb{R}^{m}
$$

[^0]where $\omega_{n}$ is the measure of the $n$-dimensional ball (see details, for instance, in [10], [11]).
The basic idea underlying Steiner symmetrization is to consider the integral of the function over slices. We take very particular slices of the form
$$
G(y)=\left\{x \in \mathbb{R}^{m}: u(x, y)>u^{*}(s, y)\right\}
$$
where $|G(y)|=s$ (by construction of $u^{*}$ ). Variable $s$ should formally be included in the definition but this will not lead to confusion.

We shall use the following notations:

$$
\Omega=\Omega^{\prime} \times \Omega^{\prime \prime}
$$

is a product domain, where $(x, y) \in \Omega^{\prime} \times \Omega^{\prime \prime}$. We shall denote by $B$ a ball such that $|B|=\left|\Omega^{\prime}\right|$ and then we introduce

$$
\Omega^{\#}=B \times \Omega^{\prime \prime} \quad \Omega^{*}=\left(0,\left|\Omega^{\prime}\right|\right) \times \Omega^{\prime \prime}
$$

Our main result is the following:
Theorem 1.1. Let $g$ be concave, verifying (H). Let $h \in W^{1, \infty}(0, T)$, such that $h(t) \geq 0$ for all $t \in(0, T), f \in L^{2}\left(0, T: L^{2}(\Omega)\right)$ with $f \geq 0$ in $(0, T)$ and let $u_{0} \in L^{2}(\Omega)$ be such that $u_{0} \geq 0$. Let $u \in C\left([0, T], L^{2}(\Omega)\right) \cap L^{2}\left(\delta, T: H_{0}^{1}(\Omega)\right)$ and $v \in C\left([0, T]: L^{2}\left(\Omega^{\#}\right)\right) \cap L^{2}(\delta, T:$ $\left.H_{0}^{1}\left(\Omega^{\#}\right)\right)$ be the unique solutions of

$$
\begin{gathered}
(P) \begin{cases}\frac{\partial u}{\partial t}-\Delta u+h(t) g(u)=f(t), & \text { in } \Omega \times(0, T), \\
u=0, & \text { on } \partial \Omega \times(0, T), \\
u(0)=u_{0}, & \text { on } \Omega,\end{cases} \\
\left(P^{\#}\right) \begin{cases}\frac{\partial v}{\partial t}-\Delta v+h(t) g(v)=f^{\#}(t), & \text { in } \Omega^{\#} \times(0, T), \\
v=0, & \text { on } \partial \Omega^{\#} \times(0, T), \\
v(0)=v_{0}, & \text { on } \Omega^{\#},\end{cases}
\end{gathered}
$$

where $v_{0} \in L^{2}\left(\Omega^{\#}\right), v_{0} \geq 0$ is such that

$$
\int_{0}^{s} u_{0}^{*}(\sigma, y) d \sigma \leq \int_{0}^{s} v_{0}^{*}(\sigma, y) d \sigma, \quad \forall s \in\left[0,\left|\Omega^{\prime}\right|\right] \text { and a.e. } y \in \Omega^{\prime \prime} .
$$

Then, for any $t \in[0, T]$ and $s \in\left[0,\left|\Omega^{\prime}\right|\right]$

$$
\int_{0}^{s} u^{*}(t, \sigma, y) d \sigma \leq \int_{0}^{s} v^{*}(t, \sigma, y) d \sigma \quad \text { a.e. } y \in \Omega^{\prime \prime}
$$

The main idea of the proof is to use a generalization of the Trotter-Kato formula and to decompose the process in two different steps: the parabolic case without any absorption term $(g \equiv 0)$ and the consideration of the auxiliary distributed ODE

$$
\left\{\begin{array}{l}
\xi_{t}+h(t) g(\xi)=0 \\
\xi(0)=\xi_{0}
\end{array}\right.
$$

Theorem 1 extends previous results in the literature on the comparison of Steiner rearrangements which until now were merely related to linear problems (see [1], [13], [7], [8], [9] and their references). The case in which $g$ is convex is considered in [12].
2. Some definitions on the Steiner symmetrization. We recall that Hardy's inequality and (1) provides us with the estimate

$$
\int_{\Omega(y)} f(x, y) \mathrm{d} x \leq \int_{0}^{s} f^{*}(\sigma, y) \mathrm{d} \sigma, \quad \text { a.e. } y \in \mathbb{R}^{m}
$$

Now, let $u$ be a measurable function. We define the auxiliary function

$$
F(s, y)=\int_{0}^{s} u^{*}(\sigma, y) \mathrm{d} \sigma, \quad \text { a.e. } y \in \mathbb{R}^{m}
$$

From the definition of the rearrangement we have that

$$
F(s, y)=\int_{\Omega(y)} u(x, y) \mathrm{d} x, \quad \text { a.e. } y \in \mathbb{R}^{m}
$$

In [1] it was shown that:
Lemma 2.1. Let $F$ be defined as before and let $u$ be regular enough. Then,

$$
\begin{aligned}
\frac{\partial F}{\partial y_{i}} & =\int_{\Omega(y)} \frac{\partial u}{\partial y_{i}} \\
\left(\frac{\partial^{2} F}{\partial y_{i} \partial y_{j}}\right) & \geq\left(\int_{\Omega(y)} \frac{\partial^{2} u}{\partial y_{i} \partial y_{j}}\right)
\end{aligned}
$$

in the sense of matrices.
The results in [1] where presented on the stationary case and without non linear perturbation (the integro-differential equation which results is very difficult to treat by maximum principle arguments). Now, we may consider $t$, the time variable as a first $y$ component, we may extend all of the above to the evolutionary case. It, then, holds that

$$
\frac{\partial F}{\partial t}=\int_{\Omega(t, y)} \frac{\partial u}{\partial t}
$$

and the analogous for the second derivative, which we will not need. This is also a consequence of other results ([3], [14], [15]).

To conclude the definitions we define the concentration relation as

$$
u \preccurlyeq v \equiv \int_{0}^{s} u^{*}(\sigma, y) \mathrm{d} \sigma \leq \int_{0}^{s} v^{*}(\sigma, y) \mathrm{d} \sigma, \quad \text { a.e. } y \in \Omega^{\prime \prime}, \quad \text { for any } s \in\left[0,\left|\Omega^{\prime}\right|\right] .
$$

Although it is not strictly a result on symmetrization the following lemma (see, e.g., [10]) is a very useful tool for what follows.

Lemma 2.2. Let $y, z \in L^{1}(0, M), y, z \geq 0$ a.e., suppose $y$ is non-increasing and

$$
\int_{0}^{s} y(\sigma) d \sigma \leq \int_{0}^{s} z(\sigma) d \sigma, \quad \forall s \in[0, M]
$$

Then, for every continuous non-decreasing function $\Phi$ we have

$$
\int_{0}^{s} \Phi(y(\sigma)) d \sigma \leq \int_{0}^{s} \Phi(z(\sigma)) d \sigma \quad \forall s \in[0, M]
$$

Written in terms of the concentration relation the above property can be read as

$$
y \preccurlyeq z \Longrightarrow \Phi(y) \preccurlyeq \Phi(z)
$$

for any function $\Phi$ convex and increasing.

Extending the above concentration relation we can define
Definition 2.3. Let $\Omega_{1} \equiv \Omega$ and $\Omega_{2} \equiv \Omega^{\#}$. Let

$$
S_{i}: L^{2}\left(\Omega_{i}\right) \rightarrow \mathcal{C}\left([0, T]: L^{2}\left(\Omega_{i}\right)\right)
$$

We say that the pair $\left(S_{1}, S_{2}\right)$ is Steiner concentration monotone if given $u_{i} \in L^{2}\left(\Omega_{i}\right)$ we have that

$$
u_{1} \preccurlyeq u_{2} \Longrightarrow S_{1}(t) u_{1} \preccurlyeq S_{2}(t) u_{2}, \quad \text { for any } t \in[0, T] .
$$

It will be useful to recall that if $\left(u_{n}^{i}\right) \in L^{2}\left(\Omega_{i}\right)$ are two $L^{2}$ - convergent sequences such that $u_{n}^{i} \rightarrow u^{i}$ and $u_{n}^{1} \preccurlyeq u_{n}^{2}$ then $u^{1} \preccurlyeq u^{2}$.
3. Steiner comparison for linear parabolic equations and for a distributed nonlinear ODE. We first compare the semigroup of a linear equation an its Steiner symmetrization, to show they are Steiner concentration monotone pairs. The following result can be proven by using as fundamental ingredient the proof for the elliptic case: see [8] for a detailed proof.

Proposition 1. Let

$$
\begin{gathered}
(A) \quad \begin{cases}\frac{\partial u}{\partial t}-\Delta u=0, & \text { in }(0, T) \times \Omega \\
u=0, & \text { on }(0, T) \times \partial \Omega, \\
u(0)=u_{0}, & \text { on } \Omega,\end{cases} \\
\left(A^{\#}\right) \quad \begin{cases}\frac{\partial v}{\partial t}-\Delta v=0, & \text { in }(0, T) \times \Omega^{\#} \\
v=0, & \text { on }(0, T) \times \partial \Omega^{\#} \\
v(0)=v_{0}, & \text { on } \Omega^{\#}\end{cases}
\end{gathered}
$$

and let $S_{\Delta}$ and $S_{\Delta \#}$ be their associated $L^{2}$ semigroups on $\Omega$ and $\Omega^{\#}$ respectively. Then $\left(S_{\Delta}, S_{\Delta \#}\right)$ is a Steiner concentration monotone pair. That is, if

$$
\int_{0}^{s} u_{0}^{*}(\sigma, y) d \sigma \leq \int_{0}^{s} v_{0}^{*}(\sigma, y) d \sigma, \quad \forall s \in\left[0,\left|\Omega^{\prime}\right|\right], \text { a.e. } y \in \Omega^{\prime \prime}
$$

then we have

$$
\int_{0}^{s} u^{*}(t, \sigma, y) \sigma \leq \int_{0}^{s} v^{*}(t, \sigma, y) \sigma \quad \forall t \in[0, T], \forall s \in\left[0,\left|\Omega^{\prime}\right|\right], \text { a.e. } y \in \Omega^{\prime \prime}
$$

where $u=S_{\Delta}(\cdot) u_{0}$ and $v=S_{\Delta_{\#}}(\cdot) v_{0}$.
Concerning nonlinear distributed ODEs we have:
Proposition 2. Let $g$ be concave verifying (H) and let $h \in L^{\infty}(0, T), h \geq 0$. Let $u$, v satisfy

$$
\begin{gathered}
(B) \quad \begin{cases}\frac{\partial u}{\partial t}+h(t) g(u)=0, & \text { in }(0, T) \times \Omega \\
u(0)=u_{0}, & \text { on } \Omega\end{cases} \\
\left(B^{\#}\right) \begin{cases}\frac{\partial v}{\partial t}+h(t) g(v)=0, & \text { in }(0, T) \times \Omega^{\#} \\
v(0)=v_{0}, & \text { on } \Omega^{\#}\end{cases}
\end{gathered}
$$

Finally, let $S_{B}$ and $S_{B \#}$ be their associated evolution Green operators (i.e. the associated semigroups if $h(t)$ is constant). Then $\left(S_{B}, S_{B \#}\right)$ is a Steiner concentration monotone pair. That is, if

$$
\int_{0}^{s} u_{0}^{*}(\sigma, y) d \sigma \leq \int_{0}^{s} v_{0}^{*}(\sigma, y) d \sigma, \quad \forall s \in\left[0,\left|\Omega^{\prime}\right|\right], \text { a.e. } y \in \Omega^{\prime \prime}
$$

then we have

$$
\int_{0}^{s} u^{*}(t, \sigma, y) d \sigma \leq \int_{0}^{s} v^{*}(t, \sigma, y) d \sigma \quad \forall t>0, s \in\left[0,\left|\Omega^{\prime}\right|\right], \text { a.e. } y \in \Omega^{\prime \prime}
$$

for the solutions $u=S_{B}(\cdot) u_{0}, v=S_{B^{\#}}(\cdot) v_{0}$.
Proof. In a first step we assume, in addition that $g$ is Lipschitz continuous and $g(0)=\varepsilon>0$. Let

$$
\Phi(\xi)=\int_{0}^{\xi} \frac{d \sigma}{g(\sigma)}, \quad \Psi=\Phi^{-1}, \quad H(t)=\int_{0}^{t} h(\sigma) d \sigma
$$

It is easy to check that

$$
\left(S_{B}(t) u\right)(x, y)=\Psi\left(\Phi\left(u_{0}(x, y)-H(t)\right), \quad\left(S_{B \#}(t) v\right)(x, y)=\Psi\left(\Phi\left(v_{0}(x, y)-H(t)\right)\right.\right.
$$

For these solutions

$$
\begin{aligned}
\mu_{S_{B}(t) u_{0}}(\tau, y) & =\left|\left\{x \in \mathbb{R}^{n}:|u(t, x, y)|>\tau\right\}\right| \\
& =\left|\left\{x \in \mathbb{R}^{n}: u_{0}(x, y)>\Phi(\Psi(\tau+H(t)))\right\}\right| \\
& =\mu_{u_{0}}(\Phi(\Psi(\tau)+H(t)), y)
\end{aligned}
$$

Since $\Phi, \Psi$ are monotone increasing then

$$
\begin{aligned}
\left(S_{B}(t) u_{0}\right)^{*}(s, y) & =\inf \left\{\tau>0: \mu_{u_{0}}(\Phi(\Psi(\tau)+t), y) \leq s\right\} \\
& =\inf \left\{\Phi(\Psi(\sigma)-H(t)): \mu_{u_{0}}(\sigma, y) \leq s\right\} \\
& =\Phi\left(\Psi\left(\inf \left\{\sigma>0: \mu_{u_{0}}(\sigma, y) \geq s\right\}\right)-H(t)\right) \\
& =\Phi\left(\Psi\left(u_{0}^{*}(s, y)\right)-H(t)\right)=u^{*}(t, s, y)
\end{aligned}
$$

Therefore, $u^{*}$ satisfies

$$
\frac{\partial u^{*}}{\partial t}+h(t) g\left(u^{*}\right)=0
$$

Now let $w=e^{\lambda t} u$, then we have by the lemma $w^{*}=e^{\lambda t} u^{*}$, and so we have that $w^{*}$ satifies

$$
\frac{\partial w^{*}}{\partial t}+e^{\lambda t} h(t) g\left(e^{-\lambda t} w^{*}\right)-\lambda w^{*}=0
$$

We choose $\lambda$ large enough so that $e^{\lambda t} h(t) g\left(e^{-\lambda t} w\right)-\lambda w$ be nonincreasing function on $u$ for every $t \in(0, T)$. Analogous calculations provided information on $z=e^{\lambda t} v$. Let

$$
\tilde{T}=\sup \left\{t: \int_{0}^{s} u^{*}(t, \sigma, y) \leq \int_{0}^{s} v^{*}(t, \sigma, y) \sigma, \forall s \in\left[0, \mid \Omega^{\prime}\right]\right\} \geq 0
$$

Since $e^{\lambda t} h(t) g\left(e^{-\lambda t} w\right)-\lambda w$ is concave, for $t<\tilde{T}$, we apply lemma 2.2 and get

$$
\begin{aligned}
& \frac{d}{d t} \int_{0}^{s}\left(w^{*}(t, \sigma, y)-z^{*}(t, \sigma, y)\right) d \sigma \\
= & \int_{0}^{s} h(t)\left(e^{\lambda t} h(t) g\left(e^{-\lambda t} z\right)-\lambda z-\left(e^{\lambda t} h(t) g\left(e^{-\lambda t} w\right)-\lambda w\right)\right) d \sigma \leq 0 .
\end{aligned}
$$

So, we get

$$
e^{\lambda t} \int_{0}^{s}\left(u^{*}(t, \sigma, y)-v^{*}(t, \sigma, y)\right) d \sigma=\int_{0}^{s}\left(w^{*}(t, \sigma, y)-z^{*}(t, \sigma, y)\right) d \sigma \leq 0
$$

and the result follows once $g$ is Lipschitz continuous and $g(0)=\varepsilon$.
In the general case since $g$ is associated to a maximal monotone graph of $\mathbb{R}^{2}$ we can approximate it by its Yosida approximation (which is still concave and satisfies (H)) and we get the result by passing to the limit. Finally we make $\varepsilon \downarrow 0$ and use the continuity of solutions with respect to $g$ (see [5] and [4]).
4. Proof of the main theorem. The special case $f=0$ and $h(t) \equiv h$ independent on $t$ is easier. Since we know

$$
\int_{0}^{s} u_{0}^{*}(\sigma, y) d \sigma \leq \int_{0}^{s} v_{0}^{*}(\sigma, y) d \sigma, \quad \forall s, \forall y
$$

applying Proposition 1 and Proposition 2 inductively we get

$$
\begin{aligned}
& \int_{0}^{s}\left[\left(S_{A}\left(\frac{t}{n}\right) S_{B}\left(\frac{t}{n}\right)\right)^{n} u_{0}\right]^{*}(\sigma, y) d \sigma \\
\leq & \int_{0}^{s}\left[\left(S_{A^{\#}}\left(\frac{t}{n}\right) S_{B^{\#}}\left(\frac{t}{n}\right)\right)^{n} v_{0}\right]^{*}(\sigma, y) d \sigma
\end{aligned}
$$

where $S_{A}$ is the semigroup associated to problem $(A)$ and $S_{B}$ is the semigroup associated to problem $(B)$ and analogously for $S_{A^{\#}}$ and $S_{B^{\#}}$.

Taking limits, applying the Trotter-Kato formula (see [5]) and applying convergence under the integral sign we get

$$
\int_{0}^{s}\left[S_{P}(t) u_{0}\right]^{*}(\sigma, y) d \sigma \leq \int_{0}^{s}\left[S_{P \#}(t) v_{0}\right]^{*}(\sigma, y) d \sigma
$$

for any $t \in[0, T]$, for any $s \in\left[0,\left|\Omega^{\prime}\right|\right]$ and a.e. $y \in \Omega^{\prime \prime}$. For the case $f \neq 0$ and $h(t)$ time dependent the Trotter-Kato formula can be also applied (see, e.g. [16]). In fact, to deal with the affine case $f(t) \neq 0$ we shall use a "reduction of order technique" argument which can be found on [4]. We point out that by an approximation argument and posterior passing to the limit process we can assume, without loss of generality, that in fact $f \in H^{1}\left(0, T ; L^{2}(\Omega)\right)$. Now, let us define $f(t+\cdot) \in H^{1}\left(0, T ; L^{2}(\Omega)\right): s \mapsto f(t+s)$ and $U(t)=(u(t), f(t+\cdot)) \in$ $L^{2}(\Omega) \times H^{1}\left(0, T ; L^{2}(\Omega)\right), V(t)=\left(v(t), f^{\#}(t+\cdot)\right) \in L^{2}\left(\Omega^{\#}\right) \times H^{1}\left(0, T ; L^{2}\left(\Omega^{\#}\right)\right)$. Let us note that $U$ is the unique solution of

$$
\left\{\begin{array} { l } 
{ \frac { \partial U } { \partial t } + \hat { L } U = 0 , \quad t \in ( 0 , T ) } \\
{ U ( 0 ) = ( u _ { 0 } , f ) }
\end{array} \quad \left\{\begin{array}{l}
\frac{\partial V}{\partial t}+\hat{L} V=0, \\
V(0)=\left(v_{0}, f^{\#}\right)
\end{array}\right.\right.
$$

where

$$
\hat{L}(u, \xi)=\left(-\Delta u+h(t) g(u)-\xi(0), \xi^{\prime}\right)
$$

We can use a decomposition $\hat{L}=\hat{L}_{1}+\hat{L}_{2}$ in the following way:

$$
\hat{L}_{1}(u, \xi)=(-\Delta u+h(t) g(u), 0), \quad \hat{L}_{2}(u, \xi)=\left(-\xi(0), \xi^{\prime}\right)
$$

Let us define the problems

$$
\begin{aligned}
& (C)\left\{\begin{array}{l}
\frac{\partial U}{\partial t}+\hat{L}_{1} U=0, \\
U(0)=\left(u_{0}, f\right),
\end{array}, \quad\left(C^{\#}\right)\left\{\begin{array}{l}
\frac{\partial V}{\partial t}+\hat{L}_{1} V=0 \\
V(0)=\left(v_{0}, f^{\#}\right),
\end{array}\right.\right. \\
& (D)\left\{\begin{array}{l}
\frac{\partial U}{\partial t}+\hat{L}_{2} U=0, \\
U(0)=\left(u_{0}, f\right),
\end{array}, \quad\left(D^{\#}\right)\left\{\begin{array}{l}
\frac{\partial V}{\partial t}+\hat{L}_{2} V=0 \\
V(0)=\left(v_{0}, f^{\#}\right)
\end{array}\right.\right.
\end{aligned}
$$

and the correspondent solution operators

$$
\begin{gathered}
S_{C}(t)\left(u_{0}, f\right)=\left(S_{P}(t) u_{0}, f\right), \quad S_{C^{\#}}(t)\left(v_{0}, f^{\#}\right)=\left(S_{P}(t) u_{0}, f\right) \\
S_{D}(t)\left(u_{0}, f\right)=\left(u_{0}+\int_{0}^{t} f(s) d s, f\right), \quad S_{D^{\#}}(t)\left(v_{0}, f^{\#}\right)=\left(v_{0}+\int_{0}^{t} f^{\#}(s) d s, f^{\#}\right)
\end{gathered}
$$

Let $Q$ be the projection operator such that $u(t)=Q U(t)$. Let us study $Q S_{C}$ and $Q S_{D}$. Since

$$
\int_{0}^{s} u_{0}^{*}(\sigma, y) d \sigma \leq \int_{0}^{s} v_{0}^{*}(\sigma, y) d \sigma, \quad \text { for all } s \in\left[0,\left|\Omega^{\prime}\right|\right] \text { and a.e. } y \in \Omega^{\prime \prime}
$$

we have, by the above explicit formulas (for the first component we apply the similar proof as in the case $f=0$ )

$$
\begin{aligned}
& \int_{0}^{s}\left[Q \quad S_{C}(t) u_{0}\right]^{*}(\sigma, y) d \sigma \leq \int_{0}^{s}\left[Q S_{C^{\#}}(t) v_{0}\right]^{*}(\sigma, y) d \sigma \\
& \int_{0}^{s}\left[Q \quad S_{D}(t) u_{0}\right]^{*}(\sigma, y) d \sigma \leq \int_{0}^{s}\left[Q S_{D^{\#}}(t) v_{0}\right]^{*}(\sigma, y) d \sigma
\end{aligned}
$$

By applying an induction argument again we get

$$
\begin{aligned}
& \int_{0}^{s}\left[Q\left(S_{C}\left(\frac{t}{n}\right) S_{D}\left(\frac{t}{n}\right)\right)^{n} u_{0}\right]^{*}(\sigma, y) d \sigma \\
\leq & \int_{0}^{s}\left[Q\left(S_{C \#}\left(\frac{t}{n}\right) S_{D^{\#}}\left(\frac{t}{n}\right)\right)^{n} v_{0}\right]^{*}(\sigma, y) d \sigma
\end{aligned}
$$

Finally, since all the operators are maximal monotone on their respective Hilbert spaces, we can take limits, apply the Trotter-Kato formula to justify the convergence of the limits and the result holds.
5. Remarks and applications. We point out that the main result applies to the parabolic obstacle problem:

$$
\left\{\begin{array}{cc}
\frac{\partial u}{\partial t}-\Delta u-f(t, x) \geq 0, u \geq 0 \\
\left(\frac{\partial u}{\partial t}-\Delta u-f(t, x)\right) u=0 & \text { in }(0, T) \times \Omega \\
u=0, & \text { on }(0, T) \times \partial \Omega \\
u(0)=u_{0}, & \text { on } \Omega
\end{array}\right.
$$

assumed $u_{0} \in L^{2}(\Omega), u_{0} \geq 0$ and $f \in L^{2}\left(0, T: L^{2}(\Omega)\right)$. The main argument is it can be reformulated in terms of

$$
\begin{cases}\frac{\partial u}{\partial t}-\Delta u+\beta(u) \ni f(t, x)+1, & \text { in }(0, T) \times \Omega \\ u=0, & \text { on }(0, T) \times \partial \Omega \\ u(0)=u_{0}, & \text { on } \Omega,\end{cases}
$$

where $\beta$ is the maximal monotone graph of $\mathbb{R}^{2}$ given by

$$
\beta(r)= \begin{cases}\emptyset, & r<0 \\ (-\infty, 1], & r=0 \\ \{1\}, & r>0\end{cases}
$$

and that $\beta(u)$ can be approximated by a sequence $\beta_{\lambda}(u)$ of non decreasing concave functions satisfying (H) (take, for instance, $\beta_{\lambda}(u)$ such that $\beta_{\lambda}(u)=u^{\frac{1}{\lambda}}$ if $u \geq 0$ ). It is well known that the correspondent solutions $u_{\lambda}$ converge strongly in $C\left([0, T]: L^{2}(\Omega)\right)$ to the solution $u$ of the obstacle problem and so the comparison of the associated Steiner rearrangements is mantained after passing to the limit.

Finally, we also mention that the associated nonlinear elliptic equation

$$
\begin{cases}-\Delta u+g(u)=f(x), & \text { in } \Omega \\ u=0, & \text { on } \partial \Omega\end{cases}
$$

can be considered in this framework (since we can write $u(x)=\lim _{t \rightarrow \infty} u(t, x)$ for some suitable $u(t, x)$ solution of a nonlinear parabolic problem for which we can apply Theorem 1.1).

## REFERENCES

[1] A. Alvino, J.I. Díaz, P.L. Lions and G.Trombetti Elliptic Equations and Steiner Symmetrization, Communications on Pure and Applied Mathematics, Vol. XLIX (1996), 217-236.
[2] H. Attouch, H. and A. Damlamian, Problemes d'evolution dans les Hilbert et applications, J. Math. Pures Appl., 54 (1975), 53-74.
[3] C. Bandle, Isoperimetric Inequalities and Applications, Pitman, London, 1980.
[4] P. Benilan, M. Crandall and A. Pazy, Nonlinear evolution equations in Banach spaces. Book in preparation.
[5] H. Brezis, Operateurs Maximaux Monotones et Semi-groupes de Contractions dans les Espaces de Hilbert. Notes de Matematica, 5, North-Holland, Amsterdam. 1973.
[6] H. Brezis, Functional Analysis, Sobolev Spaces and Partial Differential Equations, Springer, New York, 2010.
[7] F. Chiacchio and V.M. Monetti, Comparison results for solutions of elliptic problems via Steiner symmetrization. Differential and Integral Equations 14(11) (2001), 1351-1366.
[8] F. Chiacchio, Steiner symmetrization for an elliptic problem with lower-order terms. Ricerche di Matematica, 53, 1, (2004) 87-106.
[9] F. Chiacchio, Estimates for the first eigenfunction of linear eigenvalue problems via Steiner symmetrization, Publ. Mat., 1 (2009), 47-71.
[10] J. I. Díaz, Nonlinear Partial Differential Equations and Free Boundaries. Pitman, London, 1985.
[11] J.I. Díaz, Simetrización de problemas parablicos no lineales: Aplicación a ecuaciones de reacción difusión. Memorias de la Real Acad. de Ciencias Exactas, Físicas y Naturales, Tomo XXVII. 1991.
[12] J.I. Díaz and D. Gómez-Castro, On the effectiveness of wastewater cylindrical reactors: an analysis through Steiner symmetrization. Pure and Applied Geophysics. DOI: 10.1007/s00024-015-1124-8 (2015).
[13] V. Ferone and A. Mercaldo, A second order derivation formula for functions defined by integrals, C.R. Acad. Sci. Paris, 236, Série I, (1998) 549-554.
[14] J. Mossino, and J.M. Rakotoson, Isoperimetric inequalities in parabolic equations, Ann. Scuola Norm. Sup. Pisa Cl. Sci., 13 (1986), 51-73.
[15] T. Nagai, Global existence and decay estimates of solutions to a parabolic-elliptic system of driftdiffusion type in $\mathbb{R}^{2}$, Differential Integral Equations 24(1/2) (2011), 29-68.
[16] P.-A. Vuillermot, W.F. Wreszinski and V.A.Zagrebnov, A Trotter-Kato Product Formula for a Class of Non-Autonomous Evolution Equations, Trends in Nonlinear Analysis: in Honour of Professor V. Lakshmikantham, Nonlinear Analysis, Theory, Methods and Applications 69 (2008), 1067-1072.

Received September 2014; revised January 2015.
E-mail address: jidiaz@ucm.es
E-mail address: dgcastro@ucm.es


[^0]:    2010 Mathematics Subject Classification. 35J61, 35J65, 35J45.
    Key words and phrases. Semilinear concave parabolic equations, Steiner rearrangement, Trotter-Kato formula, obstacle problem.

    The research of the first author was partially supported by the project ref. MTM2011-26119 and MTM2014-57113-P of the DGISPI (Spain), the UCM Research Group MOMAT (Ref. 910480) and the ITN FIRST of the Seventh Framework Program of the European Community's (grant agreement number 238702).

